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BRIRERS 0 % 0 % 0 &
Zf (BEMSE) 0 #® 0 #® 0 #®
B2 BER CHIR) 8,000 #* 0 % 8,000 #*
EARERR (A=, 1K) 4,000 #%® 0 % 4,000 #
ZOHts (PCREEZE bY4—., TEIAE%E) 11,510 #® 0 #& 11,510 ®
& &t 6,591,510 #& 124,981 #% 6,716,491 %
& & B 622,090 #® 19 #& 622,109 #%




ZDMEREBRMFOERKRIZEIKRIZONT

1 SEROZAFTE

SM2E10A23BHRE

EERFEIOFI A REBRIE X KA T

[ERAFR]
X5 B/ FEH B
ERE |ERRAFECERE) RE |— M
& B — M
2 ERBEAZE~OHIGRKR
=X 72 EERRAFE E=—ILF¥rvyT & &t
EiR 7,442,000 #% M 7,442,000 #%
R ERE 200,000 #* ® 200,000 #*
')% BIERE (PER) 20,000 #® 20,000 #%
&
¥ |RmEs 1,600 #% 5,000 # 6,600 #%
REEA 0 & 120,000 #% 120,000 #%
& &t 7,663,600 # 125,000 % 7,788,600 #
R AEE E E R 2,856,200 #% 7,692 #® 2,863,892 #%
IREE - HEAAE S, 19 ERHEEE 3,898,600 # 115,532 #® 4,014,132 %
Z DR, BRZEAME 263,100 #% 1,652 # 264,752 #
BARE & 12,100 # 105 #% 12,205 #®
B ER= 0 & 0 #% 0 #%
Sf EME 0 & 0 #% 0 #%
[}
& BRI 0 & 4 ¥ 4 ¥
&
# BEEHs 100 #% 0 & 100 #®
BRRIZERHS 0 % 0 % 0 %
ZOfth (BERE%) 0 % 0 % 0 %
REWXRER &R CHRA) 8,000 # 0 % 8,000 #
BARERR(AE. FR) 4,000 #% 0 #% 4,000 #®
ZOHts (PCREEZE bY4—., TEIAE%E) 11,510 #® 0 #& 11,510 ®
& Hi 7,041,510 #% 124,981 #% 7,166,491 #
&® & h 622,090 #® 19 #% 622,109 #%




ZDMEREBRMFOERKRIZEIKRIZONT

1 SEROZAFTE

SM2E11A6ARA

EERFEIOFI A REBRIE X KA T

[ERAFR]
X5 B 8 FER ®
Eigtt |ERRAFRGERE) 11AF4E| 812,000 #|(40HB6Ftvhk)
& B 812,000 #%
2 ERBEAZE~OHIGRKR
=X n EEAFS E-—iL¥yryS & Hi
EiR#t 8,392,000 #* " 8,392,000 #
hERE 200,000 #* ® 200,000 #*
')% BIERME (hFER) 20,000 #® 20,000 #®
&
¥ |RmEs 1,600 #% 5,000 #& 6,600 #%
REEA 0 % 120,000 #*% 120,000 #*%
& Hi 8,613,600 #& 125,000 #*% 8,738,600 #x
R AEE E E R 2,856,200 #% 7,692 & 2,863,892 &
REE - BB, HERELE 4,171,700 & 115,532 & 4,287,232 #
ZOthiEkR . BERZSEME 310,000 # 1,652 # 311,652 #
BARE & 14,100 #% 105 #& 14,205 #&
B ER= 0 & 0 & 0 &
S H EMS 0 & 0 & 0 &
e
& BRI 0 % 4 ® 4 ®
&
# BEEHs 100 #% 0 &% 100 #%
BRIRERHS 0 & 0 #® 0 #®
ZOH (BIEMSE) 0 &% 0 #® 0 %
ER2MEE &R G 8,000 # 0 & 8,000 #
BARERR(AE. FR) 6,000 #% 0 & 6,000 %
Z Ot (PCREE 15—, [TEASES) 13,510 #® 0 #% 13,510 &
& b 7,365,510 #% 124,981 7,490,491 #&
® & s 1,248,090 # 19 #& 1,248,109 #&




ZDMEREBRMFOERKRIZEIKRIZONT

1 SEROZAFTE

SM2eE11 A208 R &

EERFEIOFI A REBRIE X KA T

[ERAFH]
X4 B & FEH ® %
Eirft |EEAFEGERE) 1MATHA| 812,000 #|(40H6Ftvh)
& H 812,000 #
2 ERMEAE~OHERER
= el ERAFE E=—iLFvryT & &t
E R 9,204,000 #& L3¢ 9,204,000 #%
hERH 200,000 # ® 200,000 #*®
']% BIEREt (PER) 20,000 #* L3¢ 20,000 #*
g Rt #t 1,600 #% 5,000 #% 6,600 #%
BEEA 0 #® 120,000 #* 120,000 #*
& &t 9,425,600 #* 125,000 #% 9,550,600 %
RS 5 TE EE AR RS 2,856,200 # 7,692 % 2,863,892 #%
REE - 1EAE 5. 10 E A 4,491,000 # 115,532 #& 4,606,532 #
ZOHERR . BERDEAE 330,000 #* 1,652 #% 331,652 #®
RREDR-REEREE 1,458,100 #% 0 % 1,458,100 #%
B fRE K 14,100 #% 105 #& 14,205 #&
BEMS 0 #® 0 % 0 %
BEH EMS 0 % 0 % 0 %
;% S ER 0 % 4 ® 4 ®
% BEEGSSE 100 # 0 & 100 #
BRIRERS 0 #® 0 #% 0 #%
Z D (BERESE) 0 #® 0 #% 0 #%
B2 BER CHIR) 8,000 #* 0 & 8,000 #*
ERRERR (FEE. IER) 6,000 # 0 #% 6,000 #%
Z 0Ot (PCRIBZE L9 TEHEEAZ) 14,960 #% 0 % 14,960 #%
a Bl 9,164,360 #x 124,981 #& 9,289,341 #&
? & H 261,240 # 19 #% 261,259 #%




ZDMEREBRMFOERKRIZEIKRIZONT

1 SEROZAFTE

SH2F11A27BRAE

EERFEIOFI A REBRIE X KA T

[ERAFH]
X4 B & FEH ® %
Eirft |EEAFEGERE) 1MAX | 812,000 #*|(40FH6Ftwh)
& H 812,000 #
2 ERMEAE~OHERER
= el ERAFE E=—iLFvryT & &t
E R 9,204,000 #& L3¢ 9,204,000 #%
hERH 200,000 # ® 200,000 #*®
']% BIEREt (PER) 20,000 #* L3¢ 20,000 #*
g Rt #t 1,600 #% 5,000 #% 6,600 #%
BEEA 0 #® 120,000 #* 120,000 #*
& &t 9,425,600 #* 125,000 #% 9,550,600 %
RS 5 TE EE AR RS 2,856,200 # 7,692 % 2,863,892 #%
REE - 1EAE 5. 10 E A 4,491,000 # 115,532 #& 4,606,532 #
ZDftisk . BRZHRATE 335,000 # 1,652 #%& 336,652 #%
RREDR-REEREE 1,676,100 #% 0 % 1,676,100 #
B fRE K 16,200 #% 105 #& 16,305 #&
BEMS 0 #® 0 % 0 %
BEH EMS 0 % 0 % 0 %
;% S ER 0 % 4 ® 4 ®
% BEEGSSE 100 # 0 & 100 #
BRIRERS 0 #® 0 #% 0 #%
Z D (BERESE) 0 #® 0 #% 0 #%
B2 BER CHIR) 8,000 #* 0 & 8,000 #*
ERRERR (FEE. IER) 8,100 # 0 #% 8,100 #%
Z Ot (PCRIEE V45—, (TEHEE%) 15,960 #% 0 & 15,960 #%
a Bl 9,390,460 #& 124,981 #& 9,515,441 #&
? & H 35,140 # 19 #% 35,159 #%




HH2E12A4BRE
EERHEIOFI1)L RBERE R HAE

ZDMEREBRMFOERKRIZEIKRIZONT

1 SEROZAFTE

[ERAFE]
E%) B H FEB B #
iRt |ERAFRCGERE) 12A%4| 720,000 #%|(GE6FHEvh)
=) B 720,000 #%

2 ERMEAF~OHIGRKR

= el ERAFE E=—iLFvryT & &t
E R 10,016,000 #x L3¢ 10,016,000 #
hERH 200,000 # ® 200,000 #*®
']% BIEREt (PER) 20,000 #* L3¢ 20,000 #*
g Rt #t 1,600 #% 5,000 #% 6,600 #%
BEEA 0 #® 120,000 #* 120,000 #*
& &t 10,237,600 #& 125,000 #% 10,362,600 #
RS 5 TE EE AR RS 2,856,200 # 7,692 % 2,863,892 #%
REE SR, 157 E RS 4,522,600 # 115,532 #& 4,638,132 #
ZOHERR . BERDEAE 340,600 #*® 1,652 # 342,252 #%
RREDR-REEREE 1,676,100 #% 0 % 1,676,100 #
B fRE K 16,200 #% 105 #& 16,305 #&
BEMS 0 #® 0 % 0 %
BEH EMS 0 % 0 % 0 %
;% S ER 0 % 4 ® 4 ®
% BEEGSSE 100 # 0 & 100 #
BRIRERS 0 #® 0 #% 0 #%
Z D (BERESE) 0 #® 0 #% 0 #%
B2 BER CHIR) 8,000 #* 0 & 8,000 #*
ERRERR (FEE. IER) 8,100 # 0 #% 8,100 #%
Z Ot (PCRIEE V45—, (TEHEE%) 17,960 #% 0 & 17,960 #%
a Bl 9,429,660 #% 124,981 #& 9,554,641 #&
? & H 807,940 # 19 #% 807,959 #*
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ZDMEREBRMFOERKRIZEIKRIZONT

1 SEROZAFTE

[ERAFE]
E%) B H FEB B #
iRt |ERAFRCGERE) 12A%4| 720,000 #%|(GE6FHEvh)
=) B 720,000 #%

2 ERMEAF~OHIGRKR

= el ERAFE E=—iLFvryT & &t
E R 10,016,000 #x L3¢ 10,016,000 #
hERH 200,000 # ® 200,000 #*®
']% BIEREt (PER) 20,000 #* L3¢ 20,000 #*
g Rt #t 1,600 #% 5,000 #% 6,600 #%
BEEA 0 #® 120,000 #* 120,000 #*
& &t 10,237,600 #& 125,000 #% 10,362,600 #
RS 5 TE EE AR RS 2,856,200 # 7,692 % 2,863,892 #%
REE - 1EAE 5. 10 E A 4,562,800 # 115,532 #& 4,678,332 #&
ZDftisk . BRZHRATE 345,600 # 1,652 #%& 347,252 #%
RREDR-REEREE 1,676,100 #% 0 % 1,676,100 #
B fRE K 20,200 #% 105 #& 20,305 #®
BEMS 0 #® 0 % 0 %
BEH EMS 0 % 0 % 0 %
;% S ER 0 % 4 ® 4 ®
% BEEGSSE 100 # 0 & 100 #
BRIRERS 0 #® 0 #% 0 #%
Z D (BERESE) 0 #® 0 #% 0 #%
B2 BER CHIR) 8,000 #* 0 & 8,000 #*
ERRERR (FEE. IER) 12,100 # 0 #% 12,100 #%
Z Ot (PCRIEE V45—, (TEHEE%) 17,960 #% 0 & 17,960 #%
a Bl 9,478,860 #x 124,981 #& 9,603,841 #&
? & H 758,740 # 19 #% 758,759 #
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ZDMEREBRMFOERKRIZEIKRIZONT

1 SEROZAFTE

(ERATE]
R4 B sEa | # %
_ [premscmn 12AFa| 720000 #|@E6EE
Bl Pe———— %% | 800000 #]|w@oBLyr)
& 1,520,000 #

2 ERMEAF~OHIGRKR

= el ERAFE E=—iLFvryT & &t
E R 10,736,000 #% L3¢ 10,736,000 #%
hERH 200,000 # ® 200,000 #*®
']% BIEREt (PER) 20,000 #* L3¢ 20,000 #*
g Rt #t 1,600 #% 5,000 #% 6,600 #%
BEEA 0 #® 120,000 #* 120,000 #*
& &t 10,957,600 #%& 125,000 #% 11,082,600 #
RS 15 TE EE AR RS 2,856,200 # 7,692 % 2,863,892 #%
REE - 1EAE 5. 10 E A 4,613,300 # 115,532 #& 4,728,832 #&
Z Db, BRZEME 368,400 # 1,652 #%& 370,052 #%
RREDR-REEREE 1,676,100 #% 0 % 1,676,100 #%
B fRE K 20,300 #* 105 #& 20,405 #®
BEMS 0 #® 0 % 0 %
BER EMS 0 % 0 % 0 %
;% EES T ER 0 % 4 ® 4 ®
% BEEGSSE 100 #% 0 & 100 #
BRIRERS 0 #® 0 #% 0 #%
Z D (BERESE) 0 #® 0 #% 0 #%
B2 BER CHIR) 8,000 #* 0 & 8,000 #*
EARBIER (BE. mE. 5 12,200 # 0 #% 12,200 #%
Z Ot (PCRIEE V45—, (TEHEES) 18,660 #& 0 & 18,660 #
a Bl 9,552,960 #& 124,981 #& 9,677,941 #&
? & e2 1,404,640 #* 19 #% 1,404,659 #




SM25E12A258 R A
EERHIIOF I RABLEERERE

ZDMEREBRMFOERKRIZEIKRIZONT

1 SEROZAFTE

[ERAFH]
X5 B & FEB ® %
ERAFRCGERE) 1A$4H | 631,000 #®|G1AFsEEYN
EiRft |EEAFEGERE) 1ATAE| 711,000 #|G5HF5EEV
ERAFRCGERE) RiE 800,000 #|(407mtvhk)
& H 2,142,000 #*
2 ERMEAE~DHERER
X b ERAFE E=—iL¥vy” a &t
E R 11,456,000 #% L3¢ 11,456,000 #%
hERH 200,000 # ® 200,000 #*®
']% BIERE (PER) 20,000 #* L3¢ 20,000 #*
g Rt #t 1,600 #% 5,000 #% 6,600 #%
BEEA 0 #® 120,000 #* 120,000 #*
& &t 11,677,600 #%& 125,000 # 11,802,600 #
RS 15 TE EE AR RS 2,856,200 # 7,692 % 2,863,892 #%
REE - 1EAE 5. 10 E A 5,225,300 #% 115,532 #& 5,340,832 %
Z Db, BRZEME 501,400 # 1,652 #%& 503,052 #*
RREDR-REEREE 1,676,100 #% 0 % 1,676,100 #%
B fRE K 24300 #® 105 #& 24 405 #®
BEMS 0 #® 0 % 0 %
BER EMS 0 % 0 & 0 %
;% S ER 0 % 4 ® 4 ®
% BEEGSSE 100 #% 0 & 100 #
BRIRERS 0 #® 0 #% 0 #%
Z D (BERESE) 0 #® 0 #% 0 #%
B2 BER CHIR) 12,000 # 0 & 12,000 #
EARBIER (BE. WE. 5 12,200 # 0 #% 12,200 #%
Z Ot (PCRIEE V45—, (TEHEE%) 18,860 #& 0 & 18,860 #%
a Bl 10,302,160 #% 124,981 #& 10,427,141 #&
2 & e2 1,375,440 #& 19 #% 1,375,459 #%




